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	Reasoning
Explain your answers.
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	Problem solving

Task 1
(a)     7
Do not accept −7 or 7−
1
(b)     Oslo



Task 2
18
Accept –18
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Q3.
Award TWO marks for the correct answer of 18,055

Q4.
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Accept equivalent fractions or an exact decimal equivalent
171

Jeg 2 or855

Q5.
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Accept equivalent fractions or the exact decimal equivalent,

Q6.
228
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No, there would be
41 floors because

you need to count
floor 0
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Possible examples:
9,19,29,39 etc.
9-1,—11,—-21

This happens
because when you
cross 0, the
numbers mirror
the positive side of
the number line.
Therefore, the final
digit in the number
changes and will
make the number
bond to 10
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L 7> -a%c
2 -6uc<-3°C
3. -ec<4cC
4 -src<atc
5. -2°C.-6°C.5°C
6. -7°C.0°C1C
7. -2C-2C2C
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1. 6-9=-3

2.21-31=-10
3.35-40=-5
4. 40 -56 =-16
5.156-20=-5
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6. 10-100=-90
7. 8-19=-11
8. 2-5=-7
9. 10-13=-3
10.12-20=-8
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11. 4 x as low as -5°
12. 5 x as low as -3°

13. 6 x as low as —8°
14. 10 x aslow as ~7°




